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Angle measurement

* Another angle measurement with smaller
LED spot.

*1cm—->0.6cm
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The distance between the PMT and the laser (radius) is 105 mm.
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eff| C | e n Cy The data at -65 to -75 degrees were taken with different radius (115 mm).
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chargeHisT_chii_130_34

Entries 36308
Mean 3.3z
Std Dev 2.242
2 f ndf 21814179
po —0.04301 + 0.00480
pl 0.09933 + 0.00353
0.06 + 0.00
2307 + 0.032
0.5812 + 0.0109
1.506 + 0.018
8116+ 104
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chargeHist_ch0_144_34
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chargeHist_chi_155_34

Entries 36292
Mean 3.296
Std Dev 2.234
%2 ndf 319.6/179
po —0.04941+ 0.00488
pi 0.1033 £ 0.0035
p2 0.06 = 0.00
p4 2.318 £ 0.032
p5 0.596 £ 0.012
p6 1.506 £ 0.018
pa8 8248+ 10.6
]
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chargeHist_ch0_149 34

Entries 36333
Mean 3404
Std Dav 2573
3% i ndf 2145/ 179
pd —0.,05025 + 0.00667
pl 01085 + 0.0047
pa 0.06 + 0.01
pé 2.526 + 0.041
] 01,6386 + 0.0158
pé 1.474 + 0.027
pé B31.2 + 14.0
[ R
8 10

chargeHist_ch0_161_34

Entries 36316
Mean 3.442
Std Dev 2.269
%2 { ndf 199.5/179
po -0.0418 + 0.0053
pl 0.0933 + 0.0040
p2 0.06 + 0.00
p4 2.543 + 0.037
p5 0.624 + 0.015
p6 1.445 + 0.024
p8 828.5 + 13.2
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Entries 36313
Mean 3.519
Std Dev 2.293
%2 ndf 192.2/179
po -0.07323 = 0.00762
pi 0.1308 = 0.0051
p2 0.06 £ 0.00
p4 2.378 £ 0.039
p5 0.6588 = 0.0162
p6 1.687 £ 0.027
p8 8433+ 14.2
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8 10

chargeHist_chQ_235 34

Entries 32444
Mean 3.391
Std Dev 2.266
32 ndf 240.4 1179
po 0.0009756 + 0.0050567
p1 0.15 +0.00
p2 0.06 +0.01
p4 2.29 +0.02
p5 0.6013 £ 0.0131
pé 1.538 £ 0.015
p8 735.8+10.7




Measurement after rotation

The HV cable was too short that the PMT
holder was withdrawn when | put the dark
box.

| moved the PMT toward the digitizer, and
took the measurement again.
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Efficiency

Compared to the previous measurement, the increase
of efficiency at 0 to -45 degrees was larger.
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The momentum of electron

* Photoelectric effect
C
K=hx—-——W
A
* The photocathode is made of bialkali (Sb-Rb-Cs).

* | calculated the momentum of the electron using the work function of
Sb-Cs (2.0 eV), because | couldn’t find the one of bialkali.

8
e K =414 X105 eV -5 X 3'2“0 M _20eV=1.1¢eV

02 nm

U=-1200Vx 1.6 X 1071° C~ — 1200 eV




